g
Y
o

y [
||||I|II||!!|”|W
b,

£ ONSA
MODEL: JST51W12

MOEE

0°~70°

20°~90°

@J o
Q

O

o

==

@\

—

SOk

=

(@

o=

=g

7 (@

ey

N 40mm LNBF Clamp 1
25 i 40mm LNBF Clamp Holder | 1
24 =Y B/Mast Bracket 2
03 @ F /Mast  Bracket 1
22| N\ | LNBF Arm 1
21 @ Reflector Bracket 1
20 @) Reflector 1
9 M6 Washer 2
8| & |M6 flange nut 12
7| C.. M6 U Square bolt 2
6 | (Bzzzz M6*15 round—head screw 3
5| & M4 hex nut 1
4 | Blu |M6*30 hex—head cap screw w/w| 2
3 cover 2
2 | @ B |M6*12 hex—head cap screw w/w/sw| 1
1 > M4*20 Round—head cross screw| 1
NO.| ITEM DESCRIPTION Q'TY




